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QUESTION 1

Masters communicate configuration information with locals using which tunnel type?
A. GRE

B.IPinIP

C. Provision Tunnel Protocol

D. IPSec

E. PPTP

Correct Answer: D

QUESTION 2

When configuring Captive Portal, which protocols are supported when accessing the Captive Portal? (Choose two)
A.HTTPS

B. VPN

C.HTTP

D. TELNET

E. SSH

Correct Answer: AC

QUESTION 3

A port firewall policy is applied to a trunk port that denies controller access. An "allow all" Vlan firewall policy is applied
to VLAN 33 on the same port. A user connected to VLAN 33 on that port attempts to gain access to the controller.
Which of the following statements is true?

A. The Port policy is applied, therefore no controller access

B. The Vlan policy is applied, then the port policy, therefore no controller access

C. The Vlan policy is applied, therefore access to the controller is allowed

D. You cannot place a firewall policy on a Ports Vlan when the Port already has a policy, therefore no controller access

E. When locally connected to a controller\\'s port you always have controller access

Correct Answer: C
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QUESTION 4

An Aruba controller is configured with the correct IP address and gateway information and is connected to the corporate
LAN via a core layer 2 switch. Control Plane Security is not enabled on the network. An access point is provisioned with
AP name and group and connected to a different Layer 2 switch on the corporate LAN that has IP connectivity to the
core layer 2 switch. The AP powers on and layer 2 connects to the network, but the wireless radios do not power on.
Which could cause this condition? (Choose two)

A. the layer 2 switches have ACLs that block GRE traffic

B. the layer 2 switches are configured to block IPSec traffic

C. a DHCP server is not configured for the segment to which the AP is connected

D. the AP\\'s mac address needs to be configured in the Aruba controller whitelist.

E. the AP and controller are in different subnets

Correct Answer: AC

QUESTION 5

The permanent licenses on the controller will be deleted with the use of which command?
A. Delete license

B. Write erase

C. Licenses cannot be deleted once activated

D. Write erase all

E. Reboot delete all

Correct Answer: D
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